ADDITIONAL HOMEWORK PRACTISE 3

1) ____________ = 520 + 36
2) 143 x 5 = ____________
3) ____________ = 9877 – 3426 
4) 93 x 7 = ____________
5) 89.495 + 62.13 = ____________
6) 537 ÷ 1 = ____________
7) 320 ÷ 8 = ____________
8) 51 x 0 = ___________
9) 300 - (7 x 10) = ____________
10)  42  + 100 = ____________
11)  34.6 x 10 = ____________
12)  10 % of 190 = ____________
13) 2/11 x 5/8 = ____________
14) 2/8 + 4/8 = ____________
15) [bookmark: _GoBack]1/4 ÷ 5 = ____________

1
2
3
a
s
B}
n
5

9

~ADDITIONAL HOMEWORK PRACTISE 3
20436

13xs
98773426

9

8935+ 6213

s+

2048

s1xi

300-(7x10)

10 4+ 100,

1) 306x10

12) 10% of 15

B)2/11x5/8

w2/ vas

15)1/8+5



